TYPICAL MATERIALS FOR

CONCRETE THRUST BLOCK POURED
AGAINST UNDISTURBED GROUND,
CONSTRUCTION SHALL BE

PER LATEST REVISION OF

DRAWING CW—435

VALVE CASING & COVER ASSY.
PER LATEST REVISION OF DWG.
CW14 AND CW439.

"FIELD LOK®  PROPERTY LINE,
GASKET RIGHT OF WAY
REQUIRED LINE, OR WATER
ON ALL PO MAIN EASEMENT
JOINTS LINE.

. PIPE ONLY || | 5"

PIPING

FIELD LOK GASKETS

TEE, PO W/ FIELD LOK GASKET
ON BRANCH ONLY

DUCTILE IRON PIPE OR
PVC C—900 PIPE
(TYP. BOTH SIDES)

EXISTING PIPE
(TYP. BOTH SIDES)

STANDARD INSTALLATION

INCH FIRE SERVICE:

" X __" TEE PO CL DI

" GATE VALVE PO NRS NO RS

VALVE CASING AND COVER ASSEMBLY

FEET OF __" DUCTILE IRON PIPE (FOR FIRE SERVICE RUN)
20" POLYWRAP TUBING 8 MIL W/PVC TAPE

___ " "FIELD LOK" GASKET F/PO

FEET OF ___" DUCTILE IRON PIPE OR PVC C—-900 PIPE

(FOR TEE RUN)

GATE VALVE, PO W/ SUES]]

gt

RING GASKET WITH CLOTH INSERT
AND STAINLESS STEEL #304
BOLTS AND NUTS.

VALVE CASING & COVER ASSY.
PER LATEST REVISION OF DWG.
CW14 AND CW439.

"FIELD LOK” GASKET REQUIRED ON PO
END OF GATE VALVE & ALL PO JOINTS

PROPERTY LINE,
RIGHT OF WAY LINE,
OR WATER MAIN
EASEMENT LINE.

CUSTOMER

[} D. PIPE ONLY |

PIPING

GATE VALVE, FLG x PO
/| \—TEE, PO X FLG

TN\_DUCTILE IRON PIPE OR
— T PVC C—900 PIPE
(TYP. BOTH SIDES)

EXISTING PIPE
(TYP. BOTH SIDES)

ALTERNATE INSTALLATION

TYPICAL MATERIALS FOR ___ INCH FIRE SERVICE:

- ___" X ___" TEE PO X FLG CL DI

— ___" GATE VALVE FLG X PO NRS NO RS

— VALVE CASING AND COVER ASSEMBLY

— FEET OF ___" DUCTILE IRON PIPE (FOR FIRE SERVICE RUN)
— GAL. METAL GUARD #301

- ROLL BIT OR RES WRAP

— 20" POLYWRAP TUBING 8 MIL W/PVC TAPE

- ___" "FIELD LOK" GASKET F/PO

— FEET OF PVC C—900 PIPE OR DUCTILE IRON PIPE
(FOR TEE RUN)

FLANGE MATERIAL — CHECK ONE BOX

L OO O

1 — 4” FLANGE TYTE GASKET
8 — 5/8" ¢ x 3" #304 SS MACHINE BOLTS W/ HN

1 — 6" FLANGE TYTE GASKET
8 — 3/4" 8 x 3—1/2" #304 SS MACHINE BOLTS W/ HN

1 — 8" FLANGE TYTE GASKET
8 — 3/4" ¢ x 3—1/2" #304 SS MACHINE BOLTS W/ HN

1 — 10" FLANGE TYTE GASKET
12 — 7/8" @ x 4" #304 SS MACHINE BOLTS W/ HN

PLAN

MATERIAL FOR ITEM @ (EITHER INSTALLATION)

NOTES:

TIE=INS FROM D.I. TO D.I. OR PVC C—900
OR ACME(<10"DIA.) USE SOLID SLEEVE MJ
TIE-INS FROM D.I. TO CI

USE SOLID SLEEVE MJ DUAL PURPOSE

TIE-INS FROM D.l. TO ACRB
(ASBESTOS CEMENT ROUGH BARREL)
USE ACRB X DI FLEX. COUPLING (10"
SLEEVE IF STEEL OR STANDARD SLEEVE

IF DUCTILE IRON).

TIE=INS FROM D.l. TO OD STEEL
USE OD STEEL X DI FLEX. COUPLING (10"
SLV IF STL OR STD SLV IF D.l.)

TIE=INS FROM D.I. TO STD STEEL
USE STD X DI FLEX. COUPLING (10" SLV
IF STL OR STD SLV IF D.l.)

TIE-INS FROM PVC C—900 TO PVC C—900
USE "CERTAINTEED” PVC CLOSURE COUPLING

1.

A DOUBLE CHECK VALVE OR REDUCED PRESSURE 3.

PRINCIPLE BACKFLOW PREVENTION DEVICE IS
REQUIRED, EXCEPT WHERE SPECIAL CIRCUMSTANCES
WARRANT THE USE OF A SINGLE DETECTOR CHECK

VALVE. 4.

POLYETHYLENE ENCASEMENT WITH PVC TAPE IS
REQUIRED FOR ALL DUCTILE IRON PIPE AND FITTINGS.

5.

PROTECT ALL UNDERGROUND BOLTS, NUTS, FLEX.
COUPLINGS, AND BARE STEEL PER C.W.S. CO.
PROTECTION COATING SPECIFICATIONS.

BLOCK AND POUR CONCRETE THRUST BLOCKS ON
ALL ELLS, TEES, AND CAPS, PER LATEST REVISION OF
DRAWING CW—435.

THE USE OF "FIELD LOK" GASKETS DOES NOT
ELIMINATE THE NEED FOR CONCRETE THRUST BLOCKS.

NOTE: APPLICANT IS REQUIRED
TO INSTALL THE FOLLOWING
BACKFLOW PROTECTION DEVICES:

ENGINEERING

DEPARTMENT

REVISIONS:

PLAT SHEET:

BAK-33-37

SCALE:

N/A

DRAWN BY: _

JOSE PENA

FORM APPROVED BY:

CHECKED BY: DATE:
APPROVED BY: DATE:
oy
i |
SCHEMATIC D
ZONE D
O
=7 =
-— m H
5 &
53
m =
-
o
(7]
)
>
0
1]
DISTRICT: §
BAKERSFIELD E
DATE: g
10/19/2023 "
PROJECT NO.
130413
DRAWING NO.:

SHTZ 0F3



AutoCAD SHX Text
%%uPLAN

AutoCAD SHX Text
DISTRICT:

AutoCAD SHX Text
DRAWING NO.:

AutoCAD SHX Text
PROJECT NO.

AutoCAD SHX Text
SHT

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
OF

AutoCAD SHX Text
CADD FILE NUMBER:

AutoCAD SHX Text
RECORD

AutoCAD SHX Text
TITLE:

AutoCAD SHX Text
DRAWN BY:

AutoCAD SHX Text
FORM APPROVED BY:

AutoCAD SHX Text
CHECKED BY:

AutoCAD SHX Text
APPROVED BY:

AutoCAD SHX Text
DISTRIBUTION

AutoCAD SHX Text
MAP

AutoCAD SHX Text
VALVE

AutoCAD SHX Text
ZONE

AutoCAD SHX Text
STATION

AutoCAD SHX Text
SCHEMATIC

AutoCAD SHX Text
SCHEMATIC

AutoCAD SHX Text
SYSTEM

AutoCAD SHX Text
MAP

AutoCAD SHX Text
PLAT

AutoCAD SHX Text
MAP

AutoCAD SHX Text
SCALE:

AutoCAD SHX Text
DATE:   INIT.

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
PLAT SHEET:

AutoCAD SHX Text
ENGINEERING

AutoCAD SHX Text
W

AutoCAD SHX Text
A

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
S

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
V

AutoCAD SHX Text
I

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
C

AutoCAD SHX Text
O

AutoCAD SHX Text
.

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
L

AutoCAD SHX Text
I

AutoCAD SHX Text
F

AutoCAD SHX Text
O

AutoCAD SHX Text
R

AutoCAD SHX Text
N

AutoCAD SHX Text
I

AutoCAD SHX Text
A

AutoCAD SHX Text
REVISIONS:

AutoCAD SHX Text
DEPARTMENT

AutoCAD SHX Text
1  - ROLL BIT OR RES WRAP

AutoCAD SHX Text
TYPICAL MATERIALS FOR ___ INCH FIRE SERVICE:

AutoCAD SHX Text
1  - ___" GATE VALVE FLG X PO NRS NO RS

AutoCAD SHX Text
1  - VALVE CASING AND COVER ASSEMBLY

AutoCAD SHX Text
___ - FEET OF PVC C-900 PIPE OR DUCTILE IRON PIPE

AutoCAD SHX Text
___ - %%U   "%%U "FIELD LOK" GASKET F/PO

AutoCAD SHX Text
___ - 20" POLYWRAP TUBING 8 MIL W/PVC TAPE

AutoCAD SHX Text
1  - GAL. METAL GUARD #301

AutoCAD SHX Text
___ - FEET OF ___" DUCTILE IRON PIPE (FOR FIRE SERVICE RUN)

AutoCAD SHX Text
1  - ___" X ___" TEE PO X FLG CL DI

AutoCAD SHX Text
%%UALTERNATE INSTALLATION

AutoCAD SHX Text
 PVC C-900 PIPE

AutoCAD SHX Text
(TYP. BOTH SIDES)

AutoCAD SHX Text
(TYP. BOTH SIDES)

AutoCAD SHX Text
EXISTING PIPE

AutoCAD SHX Text
 GATE VALVE, FLG x PO

AutoCAD SHX Text
 DUCTILE IRON PIPE OR 

AutoCAD SHX Text
 TEE, PO X FLG

AutoCAD SHX Text
8 - 5/8" %%C%% x 3" #304 SS MACHINE BOLTS W/ HN

AutoCAD SHX Text
1 - 4" FLANGE TYTE GASKET

AutoCAD SHX Text
8 - 3/4" %%C%% x 3-1/2" #304 SS MACHINE BOLTS W/ HN

AutoCAD SHX Text
1 - 6" FLANGE TYTE GASKET

AutoCAD SHX Text
12 - 7/8"  %%C%%  x 4" #304 SS MACHINE BOLTS W/ HN

AutoCAD SHX Text
1 - 10" FLANGE TYTE GASKET

AutoCAD SHX Text
FLANGE MATERIAL - CHECK ONE BOX

AutoCAD SHX Text
8 - 3/4" %%C%% x 3-1/2" #304 SS MACHINE BOLTS W/ HN

AutoCAD SHX Text
1 - 8" FLANGE TYTE GASKET

AutoCAD SHX Text
%%UTIE-INS FROM D.I. TO OD STEEL

AutoCAD SHX Text
IF STL OR STD SLV IF D.I.)

AutoCAD SHX Text
%%UTIE-INS FROM D.I. TO STD STEEL

AutoCAD SHX Text
SLV IF STL OR STD SLV IF D.I.)

AutoCAD SHX Text
USE OD STEEL X DI FLEX. COUPLING (10"

AutoCAD SHX Text
USE STD X DI FLEX. COUPLING (10" SLV

AutoCAD SHX Text
USE "CERTAINTEED" PVC CLOSURE COUPLING

AutoCAD SHX Text
%%UTIE-INS FROM PVC C-900 TO PVC C-900

AutoCAD SHX Text
TIE-INS FROM D.I. TO CI

AutoCAD SHX Text
IF DUCTILE IRON).

AutoCAD SHX Text
%%UTIE-INS FROM D.I. TO ACRB

AutoCAD SHX Text
(ASBESTOS CEMENT ROUGH BARREL)

AutoCAD SHX Text
%%UTIE-INS FROM D.I. TO D.I. OR PVC C-900

AutoCAD SHX Text
OR ACME(<10"DIA.) USE SOLID SLEEVE MJ

AutoCAD SHX Text
USE SOLID SLEEVE MJ DUAL PURPOSE

AutoCAD SHX Text
USE ACRB X DI FLEX. COUPLING (10"

AutoCAD SHX Text
SLEEVE IF STEEL OR STANDARD SLEEVE

AutoCAD SHX Text
MATERIAL FOR ITEM        (EITHER INSTALLATION)

AutoCAD SHX Text
A

AutoCAD SHX Text
TYPICAL MATERIALS FOR ____ INCH FIRE SERVICE:

AutoCAD SHX Text
___ - FEET OF __" DUCTILE IRON PIPE (FOR FIRE SERVICE RUN)

AutoCAD SHX Text
1  - ___" X %%u  "%%u TEE PO CL DI

AutoCAD SHX Text
1  - %%U   "%%U GATE VALVE PO NRS NO RS

AutoCAD SHX Text
1  - VALVE CASING AND COVER ASSEMBLY

AutoCAD SHX Text
___ - FEET OF ___" DUCTILE IRON PIPE OR PVC C-900 PIPE

AutoCAD SHX Text
___ - 20" POLYWRAP TUBING 8 MIL W/PVC TAPE

AutoCAD SHX Text
___ - %%U   "%%U "FIELD LOK" GASKET F/PO 

AutoCAD SHX Text
%%USTANDARD INSTALLATION

AutoCAD SHX Text
CW14 AND CW439.

AutoCAD SHX Text
VALVE CASING & COVER ASSY. 

AutoCAD SHX Text
PER LATEST REVISION OF DWG.

AutoCAD SHX Text
D.I. PIPE ONLY

AutoCAD SHX Text
AGAINST UNDISTURBED GROUND,

AutoCAD SHX Text
CONCRETE THRUST BLOCK POURED

AutoCAD SHX Text
(TYP. BOTH SIDES)

AutoCAD SHX Text
 PVC C-900 PIPE

AutoCAD SHX Text
 DUCTILE IRON PIPE OR 

AutoCAD SHX Text
(TYP. BOTH SIDES)

AutoCAD SHX Text
EXISTING PIPE

AutoCAD SHX Text
A

AutoCAD SHX Text
D.I.

AutoCAD SHX Text
A

AutoCAD SHX Text
DRAWING CW-435

AutoCAD SHX Text
CONSTRUCTION SHALL BE

AutoCAD SHX Text
PER LATEST REVISION OF

AutoCAD SHX Text
 FIELD LOK GASKETS

AutoCAD SHX Text
 GATE VALVE, PO W/ 

AutoCAD SHX Text
PIPING

AutoCAD SHX Text
CUSTOMER

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
PIPING

AutoCAD SHX Text
CUSTOMER

AutoCAD SHX Text
D.I. PIPE ONLY

AutoCAD SHX Text
VALVE CASING & COVER ASSY. 

AutoCAD SHX Text
PER LATEST REVISION OF DWG.

AutoCAD SHX Text
RING GASKET WITH CLOTH INSERT

AutoCAD SHX Text
"FIELD LOK" GASKET REQUIRED ON PO

AutoCAD SHX Text
END OF GATE VALVE & ALL PO JOINTS

AutoCAD SHX Text
PROPERTY LINE,

AutoCAD SHX Text
OR WATER MAIN

AutoCAD SHX Text
EASEMENT LINE.

AutoCAD SHX Text
RIGHT OF WAY LINE,

AutoCAD SHX Text
AND STAINLESS STEEL #304

AutoCAD SHX Text
CW14 AND CW439.

AutoCAD SHX Text
BOLTS AND NUTS.

AutoCAD SHX Text
"FIELD LOK" GASKET REQUIRED ON ALL PO JOINTS

AutoCAD SHX Text
PROPERTY LINE, RIGHT OF WAY LINE, OR WATER MAIN EASEMENT LINE.

AutoCAD SHX Text
(FOR TEE RUN)

AutoCAD SHX Text
(FOR TEE RUN)

AutoCAD SHX Text
NOTES:  1. A DOUBLE CHECK VALVE OR REDUCED PRESSURE A DOUBLE CHECK VALVE OR REDUCED PRESSURE PRINCIPLE BACKFLOW PREVENTION DEVICE IS REQUIRED, EXCEPT WHERE SPECIAL CIRCUMSTANCES WARRANT THE USE OF A SINGLE DETECTOR CHECK VALVE. 2. POLYETHYLENE ENCASEMENT WITH PVC TAPE IS POLYETHYLENE ENCASEMENT WITH PVC TAPE IS REQUIRED FOR ALL DUCTILE IRON PIPE AND FITTINGS. 3. PROTECT ALL UNDERGROUND BOLTS, NUTS, FLEX. PROTECT ALL UNDERGROUND BOLTS, NUTS, FLEX. COUPLINGS, AND BARE STEEL PER C.W.S. CO. PROTECTION COATING SPECIFICATIONS. 4. BLOCK AND POUR CONCRETE THRUST BLOCKS ON BLOCK AND POUR CONCRETE THRUST BLOCKS ON ALL ELLS, TEES, AND CAPS, PER LATEST REVISION OF DRAWING CW-435. 5. THE USE OF "FIELD LOK" GASKETS DOES NOT THE USE OF "FIELD LOK" GASKETS DOES NOT ELIMINATE THE NEED FOR CONCRETE THRUST BLOCKS. 

AutoCAD SHX Text
TEE, PO W/ FIELD LOK GASKET ON BRANCH ONLY

AutoCAD SHX Text
NOTE: APPLICANT IS REQUIRED  APPLICANT IS REQUIRED TO INSTALL THE FOLLOWING BACKFLOW PROTECTION DEVICES:

AutoCAD SHX Text
N 


	Sheets and Views
	FIRE SERVICE


